Afderor fhd shgd &, Tttt g faarsft eafaeeor,

interference in Hindi
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Sig foRdlt A1ere & A Mg Y & Ot Tep A1 GHE (U at) G2 & Tefcdt § ot 3k STeaRiuur & Aredd &
o fagar TR gRumHT dierdr agd sifeen gidl 1 aUT 58k fawia A1egd & go foigsit w aRumHt dierdr sgd
Y gt &1 a3 Y 29 "eAT ) aafdent interference in Hindi shgd €1
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A1 foRedt AT | ges @) srrgii oY & TRt strad w9’ g1 S gHE ferm # i R 3@t @ Sk s
ShHST: @1, Ay &1 T4 3ch d1d helicdR ¢ § dT 3eh! diaar I a I, ¢ at aRomsT digar
I =1+ 1+ 2v/I1 Iscos®

29 UehR W g foh fordt foig ur aRuma dierar 99 foig o e areft a1 a3t o o shetior tR AeR &<t 81
st aafaeseo

Afderur & o foigsit wR dierar sifdreras gidt ¢ 3 faigan tR gy eafdenzur sl Juldt eafderor

(constructive interference) @gd gl



GuTst sfaenzor & folg cos = +1
<fes dierar amam, & af & SFEHATUT gt & gaferg

Ixa?arl = ka?

9 gikomt drear

Imax =11 + L+ 24/11 I x 1

Imax = (vVT1 + v/I2)? {(a +b)? & g 8}

Imax = k(al + a2)2

S foigait uR eafdenor A areft a3l Tes &1 ahett A Merdt 81 34 foigait ur aRumt digdr sifderan gidt 21

faemaft eafaenzor

Ffderor # {9 feigai IR dierar <ad gidt & I feigaii uR gy eafaenur sl fammeft safaenor (destructive
interference) %gd g1

Huteft e & g cosg = -1

fh I o« a® qATI = ka?

a1 gRumHt dierar

Imin =11 + I + 24/T; I x -1

Imin = (vI1 — v/I2)* {(a by & G4 &}

Imin = k(al - a2)2

S foigait wR aafdenor oA areft a3t fAudid srett & et 81 ot 3 figart wr aRom derar =gAaw gidt 81





